
Calculus 2 — Exam 0
MAT 308, Spring 2020 — D. Ivanšić

Name:
Show all your work!

Differentiate and simplify where appropriate:
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5. (7pts) (This is a known derivative, your job is to verify it here.)
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7. (5pts) Let f(x) = 27x. What is f (44)(x), the 44th derivative of f? Justify your answer.

Find the following limits. Use L’Hospital’s rule if needed.
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Find the following antiderivatives.
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Use the substitution rule in the following integrals:
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16. (8pts) Find the equation of the tangent line to the curve y = x2 +2x− 15 at the point
(2,−7). Sketch the curve and the tangent line on the same graph.
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Verify this formula by differentiating.


